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Using a right Riemann sum over the given intervals,

estimate f:sF (t)gt o S %
? 5
t | 5 \13 22 |\ 27\ 35
{ \
Fy| 44 | 12 [Z13 | 17 | 22
A. 730
B. 661
C. 564
474
E. 325

= QA ¢
a A4

For the first six seconds of driving, a car accelerates at
2
arate of a(t) = 10sin (1 + i—o)meters per second?.

Which one of the following expressions represents the
velocity of the car when it first begins to decelerate?

A [T a)dt
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STy « ¥(22)
17+ 3% t 116

Homework 6.7

3. The rate at which gas is flow] ugh a large
pipeline is given #1 thousands of gallons per month in

the chart below.

i 036912
(months)

R@®
(1000 gallons | 43 s6 (6068
per month)

Use a midpoint Riemann sum with two equal
subintervals to approximate the number of gallons that
pass through the pipeline in a year.

A 594000 3(w, 000) « Q (000
B. 672.000
732,000
D. 744,000 —7%74 oo
E. 1,068,000

4. Let fbe a continuous function on the closed interval

[1, 11]. If the values of fare given below at three
points, use a trapezoidal approximation to find

) 111 f (x)dx using two subintervals.

X 1 9 11

J) 23 14 10

A = %(g}(:ﬁﬂq‘) + 4 (9) (14+)
TR )

-

’~ 1P t24
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5. If [ f(x)dx = 2a — 3b, then ["[f(x) + 3]dx =

A. 2a-3b+3

B. 3b-3a
—a

D. 5a—-6b

E. a-6b

b b
C3eax « $3ax

2] |M
do-3b 37(0
Dq—%b'tsb‘g"\

~C

Use the table below to answer questions 6 and 7. Suppose
the function f{x) is a continuous function and f'is the
derivative of F(x).

x 0 1 2 3
o | 1 0 1 -
Fx) | 4 3 A 8

6. Whatis [*feoder = F(3> FCO

- -5
<

9
annot be determined

O — b

C.
D.
E.

7. If the area under the curve of f(x) on the interval 0 <x
<2 is equal to the area under the curve f{x) on the
interval 2 < x < 3, then what is the value of 4?

A. 4

B. 2

C. 55

D. 6

E. Cannot be determined

2 3

f Pedox = C0(Valx
& 2

£k -Fly= F& -F()
A-1 =8 - A
24 <0
A
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